T 5 # R & =
Ty . FERXY /Y x5 REFMUEBEE
THEA4 BERMEIE (R5—2) TEXL e T
THEX4y / LR / BRI/ #05l A AL | EhitkE G EE i 2
B E T H =y 1.0 1
ERAHET = 1.0 1
e 2 18 BORF T & 1.0 1
i) TIEECHER ALY afvh-20[F45 5 m 5.6 5.6
i i) TIEECHER ALY afvh-30[F4E 5 m 15.5 15.5
T K T - Sl T Ha T & 1.0 1
Ei] VN BRIBAAR M B 7k m2 84.0 84 |AIE B M- B KB O E A S T
K E FLERE L = 1.0 1 KEEAAT TV NFa—T BB R ST
e S & Ol m2 72.0 72
SRR (B m2 12.0 12.0
eI m2 84.0 84
g m2 84.0 84
O OEIAE T & 1.0 1
(R A TE s 1.0 1
WriEfs1E T & 1.0 1
V=R IRES & 1.0 1
KB E%E T & 1.0 1
AKY)Y BRE TARY 7[R 4 5y m 35.9 36
T F B At T & 1.0 1
T B & BRI m2 54.0 54
HEKE e T 1 1.0 1
Pk fE L VP ¢ 75 B 3.0 3 Hufta Byt B EE T
TEHRALBE T = 1.0 1
OERR AL O ME17Co = 1.0 1
ORI AL (@) AsH¥ = 1.0 1
) AESR ALY = 1.0 1
% L. 2V 1.0 1
% L. =y 1.0 1
ERAER 2% = 1.0 1
RiE SR B AR IE i 5B = 1.0 1




Folis HERELX (F01)
1 /&40
Fii 1l b Gl b5 & HAL | 2% & {i =
i S 8 3R L
o e R
fif BB 3 R o 5 6
» ALY a4V b-20[F)55 & '
fififiE 4 —
faf FE S AU o 15. 5
ATV 247 b-30[F %% )
2 ARSEVZARN m3 0.7
MMAFE AR EV AV b= = J-02 R4 m3 0.2
VAVZ hie N =38 b 31155 b kg 0.8
fHIRER T D13 SD345 kg 83
ERHTN- D13 SD345 N 316
2/ -pEIFL T ¢ 18X58 L 316
77y = SS400 50X 9X50 e 112 SE HE20kg
Bl $ZP  6mm m 16.8
IR Ju—4" —S[E] 4 5 m 15.5
HEAK K2 25A m 4.5
aZ MEVES 8+ 4.0
NyITy7 B m 2.6
BER NZ% ) EED g 44. 1
i K OMtA Rk
a/7)-b (SR m3 0.5 SEEEL 2t
TAT7W ] m3 0.5 SEHEEL 1t
hyh-T. (Co) m 9.9
hyh=T. (As) m 22.2
F& i bh7k T
[ 7 Jig T A BIFER LK E m2 84 HLIEEbE T A
t=5mm m 36
I B Hikt O
Tny—SS7—7" 1 B[] 4% iy R 13 100m22% ¥
TEWrHEAK ¢ 181 VA —[RZ8 i m 42 BLIE S
FEWTHEK §7vry MEKT-7" [ % m 15




Tl BEREL (20 2)

1&50
oo U I B WAL % & i &
Pk VP20 m 3.6
N VT b 20A 1 9
T FVAstHE L 20 kg 3.7
Wk 47 e (5ahih) mo| T2
1R H /7= T 9
HlFL T b 40%400 m 3.6
vy -k 5 m3 0. 005
PEAKBEEI AL T ¢ 20 & T 1
R IRAE T m2 1.4
BT R T
% 1A
Bypa=p m2 84
W
WLV DL t=70mm (27— MH%E) m2 72
SEHEEL. 9t
X AL B LRV m3 5.1
Bkl zZblL t=70mm (777 Ma%E) m2 12
HAEERL Ot
X AL B TAT b m3 0.8
O Ubi e T
O UbonEA BB AUREEA LIE m 5.4
W T 18 T B U=tV Mz L 5 B Tk
Wi E1E L BT SEEE S 70mm m3 0.012
1))k i GGOEMET) m3 0.009 [BEHEREO0. 02t
Hyh-T. R X 10mm m 4.8
PRMOKE) D 3R & T
KEIkf TAN V97" S5 m 35.9




Tl BEREL (20 3)

11540
Bl Ao al B B | % & R
B A &
WAERE 2 Re- I %4 % m2 54
Pk g Hiife
VP ¢ 75 m 5.3
Pk
VP ¢ 75/H90° /LR 1 3
Uz $S400 FB-100X 6 kg 15
SUS304 M12X 35 FS 6
BV« Fyb e Vv
SUS304  M12 X 40 FS 6
F=AVER W h M12X 100 (SUS304) VN 6
ayy)-hEIFL LT ¢ 18X 57 fL 6
TRBNTER A% HDZ55 kg 15
HEIHEEV S m3 0.04
T m2 0.2
BERRHEKE ML |VUT5 m 1.4
BERR B 2= A i m3 0.05
Byp-T t=10mm m 4.5
av) -k JHE A7, m3 0.05 |ZFEEKEO. 12t
R L
RV TYPE Al m2 10
FRIEHEERLE R Y |TYPE E (v — MRV BhitE) m2 50




AREE R E T Mk
140
=Bl i | oK AL ¥ 5 i &
ARG | A2AG 1 | sk | e A | & 3F
HfE S R T
R 22 1 A
[OESEa B _ _
" ALY 247 h-20[F) 5 m 5.6 1 5.6
e <B4 — .
i SR m | 46| 53| 56| - |155
ATV 24/ b-30[F1&E : : : :
HBET Havy) -} m3 0.2 0.3 0.1 0.1 0.7
MMAREFREEV SV M-yt =8 J-02[F%% R | m3 - - 0.1 0.1 0.2
7" G 47— N =304 N B 115[R)AE kg - - 0.4 0.4 0.8
BB ER A D13 SD345 kg 18 21 22 22 83
=TV - D13 SD345 A 96 108 56 56 316
avy)-hEIFLE ¢ 18X 58 i 96 108 56 56 316
77y = SS400 50X 950 e - - 58 54 112
Bl v A 6mm m - - 8.7 8.1 | 16.8
TH KA Ju—4" —S[A] 4 5L m 4.6 5.3 5.6 - 15.5
HEAKR-2 257 m 2.0 | 2.0 | 0.5 - 4.5
VaZ%) MEVES 34 2.4 1.2 - 0.4 | 4.0
NSV ) m 1.3 | 0.6 - 0.7 | 2.6
AR NZZ g | 24.7 | 12.4 - 7.0 | 44.1
W e OB R
a9 -h (H%55) m3 | 0.23 | 0.26 - - 0.5 |B>EB&ERI. 2t
BERR S
TAT 7 m3 - - 0.23 1 0.25 | 0.5 |BEEHEIL It
fy4-T. (Co) m 4.6 5.3 - - 9.9
Bop-T. (As) m - - 1.1 | 11.1 ] 22.2




FoIHE o 2 e FRUE T 1 &Y Y
4 g g 1 =X B | 4% &

AEE>
o 2 o
4 FIESCE ATY a4y b-30[F %5 5

L = 4.640 = 4. 640 m 4.6
%ITHay) -}

V= ( 030 + 0.400 ) X 0.070 X 4.64 = 0.227 m3 0.2
BB Bk D13 SD345

XA L v = 18.0 kg 18.0
TN~ D13 SD345

N = 24 X 4 = 96.0 i 96.0
2y))-hEIFL L ¢ 18X 58

N = = 96.0 1L 96.0
TR Ju—t" =S [ 4 iy

L = 4.640 = 4. 640 m 4.6
HEAKE-2 25A

L = 1.000 X 2 = 2. 000 m 2.0
V-VkF MEVER

V = 0020 X 0.08 X ( 0.444 + 0.210 ) X 2 = 0.0022

W = 0.0022 X 1000 X 1.1 = 2. 420 vy 2.4
NyITy7 R

L = ( 0.444 + 0.190 + 0.020 ) X 2 = 1. 308 m 1.3
B ZZ 1S

W= (008+ 002 X 2 ) X 1.308 X 150 g/m2 = 24.721 g 24.7
BRI )=k (JER5)

V = ( 0.300 + 0.400 ) X 0.070 X 4.640 = 0.227 m3 0.23

W= 0.227 X 2.350 t/n’ = 0.533 t 0.53
B HZ— 1L Cot] 7

L = 4.640 = 4. 640 m 4.6




FoIHE s 2 i R TR R 1 &Y Y
4 g g B = B | 4% &

A2KEHE>
o 2 o
4 FIESCE ATY a4y b-30[F %5 5

L = 5.345 = 5.345 m 5.3
%ITHay) -}

V= ( 030 + 0.400 ) X 0.07 X 5.345 = 0.262 m3 0.3
BB Bk D13 SD345

XA L v = 21.0 kg 21.0
TN~ D13 SD345

N = 27 X 4 = 108.0 i 108.0
2y))-hEIFL L ¢ 18X 58

N = = 108.0 1L 108.0
TR Ju—t" =S [ 4 iy

L = 5.345 = 5.345 m 5.3
HEAKE-2 25A

L = 1.000 X 2 = 2. 000 m 2.0
V-VkF MEVER

V = 0020 X 0.08 X ( 0.444 + 0.210 ) = 0.0011

W = 0.0011 X 1000 X 1.1 = 1.210 vy 1.2
NyITy7 R

L = ( 0.444 + 0.190 + 0.020 ) = 0. 654 m 0.7
B ZZ 1S

W = (008+ 002 X 2 ) X 0.654 x 150 = 12.361 g 12.4
BRI )=k (JER5)

V = ( 0.300 + 0.400 ) X 0.070 X 5.345 = 0. 262 m3 0. 26

W= 0.262 X 2.350 t/n’ = 0.616 t 0. 62
By #—T Cobl 7

L = 5.345 = 5. 345 m 5.3




FHliG s 2 i S TR R 1 &Y Y
4, i G 1 B | 4% &

B PR WS>
o 2 o
4 PP E ATV a/vb-30[F %54

L = 5.571 = 5.571 m 5.6
%FTHavy) -}

V = 0.300 X 0.07 X 5.571 = 0.117 m3 0.1
MMAJE iR EV AV M=o = b J-200 % 5

V = 0.300 X 0.07 X 5.571 = 0.117 m3 0.1
7" %=

N =AM H 115REE 5

W= ( 0.300 + 0.07 ) X 5.571 = 0.412 kg 0.4
TR ERAR D13 SD345

X kv = 22.0 kg 22.0
=T D13 SD345

N = 28 X 2 = 56.0 & 56. 0
/)=l FL LT ¢ 18X 58

N = = 56.0 1L 56. 0
7Ty = SS400 50X 9X50

N= 29 X 2 = 58.0 biia 58.0

W= 0050 X 353 kg/m X 58 = 10. 2 kg 10
BV TP 6mn

L = 58.000 X 0.050 X 3 = 8.7 g 8.7
TEIEKES Ju—4 =S[E 28 5

L = b5.571 = 5.571 m 5.6
HEAKE-2 25A

L = 0.500 = 0. 500 m 0.5
BERR AT 7V b

V= ( 030 + 0.300 ) X 0.070 X 5.571 = 0.234 m3 0.23

W= 0.23 X 2.350 t/nm° = 0. 550 t 0.55
g1y Z—1T AstitT

L = 5.571 X 2 = 11.142 m 11.1




FHliG o 2 e FRUE T 1 &Y Y
4 g g 1 =X B | 4% &
<Hie B >
o 2 o
4 PP ER ATV afv P20 R %5 4
L = b5.572 = 5.572 m 5.6
%FTHavy) -}
V= 0320 X 0.07 X 5.572 = 0.125 m3 0.1
MMAJE iR EV AV M=o =h J-02[H % 5
V = 0320 X 0.07 X 5.572 = 0.125 m3 0.1
7" %=
N =AM H 115REE 5
W= ( 0.320 + 007 ) X 5572 X 0.2 = 0. 435 kg 0.4
TR ERAR D13 SD345
X kv = 22.0 kg 22.0
=T D13 SD345
N = 28 X 2 = 56.0 & 56. 0
2/ bEIFL T ¢ 18X 58
N = = 56.0 1L 56. 0
7Ty = SS400 50X 9X50
N = 27 X 2 = 54.0 biia 54.0
W = 0050 X 353 kg/m X 54 = 9.53 kg 10
BV TP 6mn
L = 5 X 0.050 X 3 = 8.1 m 8.1
V-VkF MEVER
Vi= 0.020 X 0.025 X ( 0.365 + 0.210 ) = 0.0003
V2 = 0.020 X 0.020 X 0.155 = 0.0001
= 0.0004
W = 0.0004 X 1000 X 1.1 = 0. 44 (54 0.4
INSVISVAR
L1= 0.365 + 0.190 + 0.020 = 0.575
L2 = 0.155 = 0. 155
= 0. 730 m 0.7
P Al UZ¥iEES
Wl=( 0025+ 0.0200 X 2 ) X 0.575 X = 5. 606
W2 = ( 0.020+ 0.020X 2 ) X 0.155 X = 1.395
= 7.001 g 7.0




FHliG e 2 i U LR R 1 &Y Y
4 g 7 1 = B | 4% &
BERR AT 7 b
V= ( 0320 + 0.320 ) X 0.070 X 5.572 = 0. 250 m3 0.25
W= 0.250 X 2.350 t{/m° = 0. 588 t 0.59
T BZ—1T. AsY]r
L = 5.572 X 2 = 11.144 m 11.1




ffii T Bk

15
ool o B Bk HLAZ o o= B
ik T
B K Je 1 7 BRI K m2 84 LT 1
A F bt Lomn - "
i EeyaSST-7 NS m 13 100m234 1
HETHEZK & 18N VAH—[R1 S5 m 42 HLIEH
TEMWTHEAK B74y MEIKT-7" [R5 i m 15
Pk VP20 m 3.6
N ALY 20A & 9
o YA b 20 kg 3.7
N 30 (b " 2
1D 4aH a7 - &7 9
HIlFL T ¢ 40%400 m 3.6
av))-hik o 755 m3 0. 005 S EZHRO. 01t
Hek ki AL T ¢ 20 (EB0 1
PR T m2 1.4
SRS T
-
Bypa=p m2 84
=
v bl t=70mm (27— Mhi%E) m2 72
SEHERLL 9t
O AL B FLSTHEVIERI m3 5.1
WEELVZ DL t=70mm (7477 MaHEE) m2 12
SEHF] Ot
A LB TAT b m3 0.8




FHI1E ek TEHHE 1140
4 i 7t B =X HAL| % =
KEmBhK T
[ENEDE BRI K )E
HIET
A= 72.248 + 11.708 = 83.956 m 84.0
I B ik t=5mm, &1 —/LSST— 7 1A [E 5 5,
HE TS
L = 18.204 + 12.552 + 4.932 + 0.370 = 36. 058 m 36.0
(100m224 1)
L = 36.058 / 83.956 x 100 = 42.949 m 43.0
W HEAK ¢ 18 K LA F—[R1%: 5,
HET
L= 4.000 + 5.000 + 5.000 + 4.204 + 4.200
+ 4.000 + 4.200 + 0.182
+ 5.682 + 3.729 + 1.313 = 41.510 m 42.0
RRBTHEAK X7 x v MEKT — T RIS
HIET
L= 4.640 + 4.524 + 5.171 + 0.200 = 14.535 m 15.0
HEAKE VP20
L= 0.400 x 9 = 3.600 m 3.6
NVT Iy M 20A
N = 9 {5 9
b 2 il K RVRIETEARS
LEEFTY © R IR HERE
V= ( 1/ 4X = X 0.040 2 X 0.400
- 1/ 4x 7 x 002 2 x 0.365
- 1/ 4x 7 X 0.033 2 x 0.03 ) = 0.0003 m3
W = 0.0003 x 1200 x 1.150 X 9 = 3.73 kg 3.7
FEEL1. 20 nAZR0. 15
| IE SRIEEA
fu
3
[N
|
n._:[
=4
©
Y 35
I An;l




FolfE FamBA/K TR E 11540
4 g it B =X HAL| &
RN A7 JVERT WFa=7"
& 2047/VA (Fy MT)
L= 0.800 X 9 = 7.200 m 7.2
14 H /)Y
N= 9 = 9 =GR 9.0
FRATVE (SUS304) = 9 1 9.0
a0 )=7vh-M6  (SUS304, 1) 4 1)) = 18 1 18.0
HIlFL T ¢ 40 X 400
L= 0.400 X 9 = 3.600 m 3.6
ay )y -k V= 7 / 4 X 0.040 2 x 0.400 x = 0.005 m3 0. 005
(HE7757)
W= 0.006 X 2.350 t/m3 = 0.012 t 0.01
BEARBEEI LT ¢ 20
= 1 & A 1
SRR IR
A= 0.400 X 0.400 X 9 = 1.440 m2 1.4




T35 14 ST R TR E IR

4 g it ) M HAL| % &=
<EhEEFTHLZ T
- =| EBF
t= 30 mm~ 50 mm FKE BRIET A7 7))L MNEEW (13)
A= = 83.956 m> 84.0
A A2
t= 40 mm~ 50 mm g BRIET A7 7))L MNEEW (13)
A= = 83.956 m> 84.0
Sy a—h
= — 83.956 o 84.0
e *= L ZbL
(€ SEREMARIN )
t= 70 mm
A= = 72.248 m> 72.0

(EEHT A7 7 b b i)

t= 70 mm

A= = 11.708 m> 12.0
RO LB

(A2 ) =1)

V= 72.248 X 0.070 = 5.057 m3 5.1
W= 5057 X 2.35 t/n’ — 11.884 t 11.9
(7277V})

V= 11.708 X 0.070 = 0.820 m3 0.8

W= 0820 X 2.3 t/n = 1.927 t 1.9




OUbhAIET Bk

1140
| G| B HAfT o & s
UMb e T
ObiiEA EEEVVERE W NIRGS m 5.4




»\% (‘ Z = k"_i
= OOEINAfE TR % 0
4 i 7t =1 =X Hir| % &
OObEA EXBE
KC-01 L = (f§ = 0.30 mm ) 2.90 m
KC-02 L = (f§ = 0.20 mm ) 2.50 m
&t 5. 40 m 5.4
EHREOEE b= EXOVbILEX) /MROVbES
= 0.25 mm
e TIE K
L = 5. 40 m 5.4
A R ok ¥VEHIE
O OO IR W= 0.25 mm
DUbIWES Y D= 50 mm
W = 0.00025 X 0.050 X 1 / 2
X 1200 kg/m3 X 5.400 0. 04 kg 0.04
V-t ok ¥V
W= 0.050 X 0.003 X 1700 kg/m3 X 5.400 1.38 kg 1.38
R P A S L
N= 540 / 0.30 18 2| 18




WimisE T HEE
1140

oAl #m 1l B HAL | %% 5 i =&
Wr &8 T B )=t/ MV X B EE Tik
W i 1E1E T EEHT % S 70mm m3 0.012
2/ - Mk MRy GBaEMk = ) m3 0.009 |BEEmO. 02t

Hyh-T. £ & 10mm m 4.8




FoIHE WriE (&8 TRt H & KR
4 i it L = AL | &
Wri &8 1T
EET i
JD-01 A= 0.150 X 0.100 = 0.015 m2
JD-02 A= 0.200 X 0.150 = 0. 030 m2
JD-03 A= 0.200 X 0.100 = 0. 020 m2
JD-04 A= 0.350 X 0.100 = 0. 035 m2
JD-05 A= 0.200 X 0.100 = 0. 020 m2
JD-06 A= 0.250 X 0.100 = 0. 025 m2
JD-07 A= 0.300 X 0.100 = 0. 030 m2
0.175 m2
fyh-T1.
EET L VZAR
JD-01 L=( 0.150 + 0.100 ) x 2 = 0. 50 m
JD-02 L=( 0.200 + 0.150 ) x 2 = 0.70 m
JD-03 L=( 0.200 4+ 0.100 ) x 2 = 0. 60 m
JD-04 L=( 030 + 0.100 ) x 2 = 0. 90 m
JD-05 L=( 0.200 + 0.100 ) x 2 = 0. 60 m
JD-06 L=( 0.250 + 0.100 ) X 2 = 0.70 m
JD-07 L=( 0.300 4+ 0.100 ) x 2 = 0. 80 m
4. 80 m 4.8
Wri &8 1T K Vo=t bevy (BhSER A & Te)
SRR S 70 mm
V= 0.175 X 0.070 = 0.012 m3 0.012
o0 T /) -MRDEEL (A
SRR S 70 mm
V= 0.175 X 0.070 = 0.012 m3 0.012
vy -k R GRaEE )
vV = 0.009 = 0. 009 m3 0. 009
SEHEE
V= 0.009 X 2.350 t/m3 = 0.021 t 0.02
7" 9471
A= 0.175 = 0.175 m2 0.2
7" A & K FVASIAG
W= 0175 X 0.100 kg/m2 = 0.018 kg 0.02




F5 145 V)= NV B AR (20)) - A RE) 40
4 b 7t " X HA | % &
RIEFE A= = 0.175 | m2
H TR | M
Jjp-01 A= 0.150 X 0.100 X = / 4 = 0.012
jp-02 A= 0.200 X 0.150 X =x / 4 = 0.024
jp-03 A= 0.200 X 0.100 X =x / 4 = 0.016
jp-04 A= 0.350 X 0.100 X = / 4 = 0.027
Jjp-05 A= 0.200 X 0.100 X = / 4 = 0.016
jp-06 A= 0.250 X 0.100 X =x / 4 = 0.020
jp-07 A= 0.300 X 0.100 X =x / 4 = 0.024
= 0.139 | m2
VYIRS SERRITER S 20 mm
A= 0.175 X 0.070 - 0.139 X 0.020 = 0.009 | m3 0. 009




ARG D 3%

1140

&l

HLAL

fem

i

5

IRARK B Y 53¢l T

KEIr

TAN Vo7 [R5




FoltE KB B E TR E 140
4 gin 7 B = WAL [ %% =
Jiti T 3E
L = 17.940 + 2 = 35.880 m
REIRF 74 KU v 7 R% 5
L = iIiER LD = 35.880 m 35.9




Dot L BoEsk

1140

B wmoooBl 7R S HAL & i =&
[ M1 T
AR 2 Re-I & 4E % m2 54




FoH5 o5 G A SRR TR 1#E4 0
pa 7N 7t =1 = HAL | %K iy
WA 2 | Re-TIEBEER
AL A AR
| Bz {[EE=S Wi & \, RAEWEAE | NET
w5 (nm) @) | mem | TEO TG | @
B A
A
AR OK [-150x50x3.2[ X | 18300 1 0. 486 1 8.894 100
B—A 470 x| 18070 1 0. 470 2 16. 986 100
E $101.6 | x| 780 10 0.319 1 2. 488 100
iyl
AR OR [-150x50x3.2[ X | 12300 1 0. 486 1 5.978 100
[-150x50x3.2[ X | 4300 1 0. 486 1 2.090 100
B—A 410 x| 12035 1 0.410 2 9. 869 100
410 x| 4405 1 0.410 2 3.612 100
e — 24 356 x| 764 2 0. 356 2 1.088 100
R $101.6 | x| 780 10 0.319 1 2. 400 100
i XHF SGP25A | x| 930 2 0.107 1 0.199 100
PL 50 | x| 160 2 0. 050 1 0.016 100
PL 50 | x| 300 2 0. 050 2 0. 060 100
&t 53.8 m2 54




PEARERIE T sk

1140

oAl G I G - BT = 5 &
Pk HifE T
VP ¢ 75 m 5.3
PekE
VP ¢ 75/190° /LA 1 3
iz SS400 FB-100X6 kg 15
SUS304 M12x35 EN 6
B Vb e Fob e Doy
SUS304 M12%40 EN 6
FeA VR Wb M12X100 (SUS304) EN 6
av))-bEIFL T ¢ 18X 57 1 6
VRIS A % HDZ55 kg 15
I HREVI m3 0.04
T e m2 0.2
WERZHEKE W2 VU75 m 1.4
BERR i il = A m3 0. 05
fop-1 t=10mm m 4.5
)Y - hik A m3 0.05 |BHBHEMEO. 12t




FhliE POKEME THEAEE 14540
4 g it B EM HAL| % &
HokE VP ¢ 75
L= ( 0.672 + 1.100 ) X 3 = 5.316 m 5.3
VP ¢ 75HH90° =y
N = = 3.0 & 3.0
HipE &
EEBIED
TR Y Z I RFS % | A & 1EsvEs) EH R M | Aok
(IHIH) (ﬂﬂ) (kg/m*kg/m) (kg) (kg) (%)
st H
FB 100 | X| 6 X | 269 6 4.710 1.27 8 1SS4001 100
FB 100 | X | 6 X| 263 3 4.710 1.24 4 1SS400| 100
FB 100 | X| 6 X | 200 3 4.710 0.94 3 1SS400 100
B.N M12 X 35 6 0.073 0.4 | SUS304
B.N M12 X 40 6 0.077 0.5 |SUS304
& &
FB SS400 t=6 12 {# 15 kg
/B 15 kg
B.N. sus3o1 M12 X35 6 A 0.4 kg
B.N. sussr M2 X40 6 A 0.5 kg
/B 1.0 kg
aF 16 kg
R=WAv b M12X 100 (SUS304)
N= 2 X 3 = 6 PN 6
av 7Y — bHIALT ¢ 18 X57
N = = 6 L 6
VAR E A A 9% HDZ55
V= = 15 kg 15
I HEEV Y V= ( 0.210 X 0.400 X 0.200 - 1 /4
X 7w X 0.089 2 X 0.400 ) x 3 = 0.043 m3 0.04
gy A= ( 0.210 X 0.200 + 0.140 X 0.200 ) X 3 = 0.210 m2 0.2
BERRPEKERE| VU T5
L = 0.450 X 3 = 1. 350 m 1.4
BERX S % B
V= (0210 X 0.400 X 0.200 ) X 3 = 0.050 m3 0. 05
hyh-T. t=10mm
L=+{ ( 0210 + 0.400 + 0.140 ) x 2
4+ 0.200 } X 3 = 5. 100 m 5.1
av))-hik Vo= BERHUERZE LY = 0.050 m3 0.05
(HER77)
W = 0.050 X 2.350 t/m3 = 0.118 t 0.12




R T B

1140
oAl #m 1l B HAL # i =&
% T
T2 5 TYPE Al m2 10
FrsgEphs# g3 [TYPE E (37— MIEY BE) m2 50




TB15 Ik TRt HE 11540
4 o 7 B =X HAL| B &
% T
EyRe TYPE Al
A = 1.690 X 3.878 = 6.554 2| n? 7
AEREERG#E R TYPE E (Y-MEY BhEé)
A = 1.190 X 17.940 + 1.690 X 14.062
+ 0.980 X 3.786 + 0.800 X 0.860 = 49.512 p?| o

50




